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Although I understand the basic concepts of the above diagram.  I am having trouble trying to explain the following 4 points in detail.

(1)
In terms of supply and demand analysis, what are some factors that could have caused the hypothesized fall in wages from W0 to W1 for this organization.

(2)
Why would the organization represented in the firm want to increase its labour input to L1.

(3)
How would it be possible for the organization to increase its labour input to L1, without having to increase wages to attract workers.

(4)
From my understanding the shift from MRPL0 to MRPL1 can be the result of an increase in the scale of production (please correct me if I am wrong).  In terms of factors of production, what does an increase in the scale of production and the shift of the MRPL curve to the right imply and what could have happened to bring this change about.

What I would like is an explanation for each of the above problems that would enable me to gain a greater understanding long run and short run demand for labour schedules that covers the main points but isn’t so technical that it leads me to ask further questions.

